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Question paper for the ap

Date: 16.63.22 :

lax Marks: 100

Part -1 : General Aptitude

‘select the correct answer (10 marks):

1. 1 MB of datais equivalent to:
a) 1024 bytes b) 1024 Kb ‘ ¢) 1000 bytes d) 1000 Kb
2. Scientific study of earthquakes is called: ; :
a) Seismology b) Geology c) Astrology d) Virology
"3. TheHQof NATQisin: . = _
. &) USA ; b) France ' ¢)Belgitim d) UK
4. Dilwara Temples are located in: ' ;
aj Uttar Pradesh : b) Madhya Pradesh ¢) Rajasthan d) Haryana .

A can do a work in 15 days and B'in 20 days. If they work onit together for 4 days, the fraction

of the work left is:
a) % TR L das  asps

6. Theangleof elevation of a'ladder Ieanmg against the wall and the foot of the ladder is 4.6m
away from the wall. The length 6f the ladder is: ' :

‘3) 23m bjaem 978m d)9.2m
7. What should be the nexf"ndm'ber in the series: 22;2425:24:33.2. ')_'2_ ‘2,\ 2.3, 2.2 ?_Q Q.% Y
a) 22 5 - b)24 i c) 25 d) 26
8. Barometer is used to measure: ST
= a) Acxdlty ) rainfall B + € pressure e 4 d) h‘ez;t ;
9 Numberof p!ayers playing:in a team of kho khois: SN .
a) s b6 B PO L

10. 1kmis equalto_____ miles: : :
a) 1 S ob)LE LE e e
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following anlonyms/synonyms : {10 marks)
8

atatch the
Enorous 1. natural : | .
a 198l 2. humble ,
b r\nl“\ \ 3‘ a|erl
Saus
B e a. dignified
% mf‘L:w 5. influx
\ £ . )
[AN ‘IJ } G. uny
£ August a1
N watchful - Impractical
h. repeal 8. plenty
i, abundant 9. summary
j.  synopsis 10. cancel
£illin the blanks: (10 marks)
‘Knotis a unit of speed of which of the following: ‘
: R
2) Aeroplane b) Light wave ' ) Ship d) sound Waves

6 bells commence tolling at intervals of 2,4,6,8, 10 and 12 seconds respeuwely. 30
how many times do they toll together: | tes,

5 4 B R . - | 15 ' d) 16
Which of the following is the nan metal that is Iquld at room temprature
a) Phophorous b)Bromine . ) Chiorine d) Helium

-Quartz crystals normally used in’ quartz clocks is chemlcally

a) Silicon dioxide b) Germamum oxnde c) mlxture of a,b -d) Sodiumsilicate

Na‘aonallnstxtuteofVlrologylsm TSN o |
“b). Kdlkata c) New Delhi d) Mumbai

a) Pune

The recently lnaugurated ‘Namo! stadlum is located in: o ,

a) Pune b) Dharamshala : c) Bengaluru | d) Ahmedabad
Present Union Minister for Railways is Sh: - | , oy |
a) VK Tripathy b) Piyush Goyal - ¢)-Ashwini Vaishnaw  d) Suresh Prabhu

Abhinav Bindra is associated with:.

a) Cricket - b) Kho Kho ¢) Shooting . d) Boxing

The HQ of United Nations isat: =~ | | | =
2) Geneva b) Paris " ¢) New York . . d)Washington
The Law of Natural Selection is associated with: ' el

a) Daltop b) Darwin c) Kepler d) |
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vili) Find the value of the currents 11, 12 and I3 flowing clockwise in the first, second ang
third mesh respectively.(10 marks)

—\W

ala 1 ohm Sohm —L_
- T 1oV
4 ohm
- )

IX) Write Short notes Onany 2: (2*5=10 marks)

a. What is hysteresis joss?
b. WhY do we use starter for a DC motor?
C- What is slip in an induction motor?.

X) Find the node voltage V. (10 marks) -

" 1ohm §
g { 3 ohm
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V) Write Full forms for the following: (10 matks)

a. UNESCO t.sop

b. R8I g. AIDS

c. DOPT h. Gbp

d. NIMHANS i. CPI (Inflation)

e. IRSEE j- ROM

Part -ll- Technical Aptitude

V) Write Full forms for the following: (10 marks)

a. IGBT f. ELC8
b. CAM , g. PF
c. BIS . h.EHV
d. VLSl i.1C
e.RLC - j. THD.

wer the following questions: (Attemptany 4 questions) : 4*2.5=10 marks
n what factors does it depend?-

mean by dielectric strength:and 0
les.

explain‘its different types with examp
d passive networks?

a. What do you
b. What are semij conductors,
c. Whatdo you mean by active an
d: What'do youmean by skin effect?

e. If Capacitances c1,c2,C3are connecte

d in parallel, what is the equivalent capacitance of the -

combination.

Vi) Answerany 2 qu'esti'on'sgfrqm the following: (2,"‘-5=1_'0.marks_)
-wire length of 5m. What will be the capacity of the heater if the
lved? | -

petween earth and neutral?

power factor?

a A 1000.'W-;heatér' hasa
length of the wiré is f2

b. What.isthe difference:

¢. What are the disadvantages of low

e
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